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Circular Motion

CIRCULAR MOTION
1.  }  /  ,

196 N  } /; 

 (  /  g 

 10 ms–2  = 6400 km ):

(1) 195.66 N (2)  194.66 N

(3)  194.32 N (4)  195.32 N

2. m  ,  k 

 ,  (spring)  ,

; ;
   ?

 ;  { =  ,  ?
 %

(1) 
2

2

m

k m
(2) 

2

2

m

k m

(3) 
2m

k m
(4) 

2m

k m

3.  (spring mass) ; (

m,  k  l) 

 ,  {
 ;

; 
 , (k >> m 2) ;  ? ;  l

 ?

(1) 
22m

k
(2) 

2m

3k

(3) 
22 m

3 k (4) 
2m

k

4. ;    ? ,  , ]  

y = 4Cx2 ; (parabola)  ( = )  m
 ,  P(a, b)   

 ( .; ) :

P(a, b)

x
0

y

(1) 
2gC

ab
(2) 2 2gC

(3) 
2g

C
 (4) 2 gC

5.  ?  ? ± 
0.1 m ± 
(ms–2 )  :
(1) 10–3 (2) 10–2

(3) 10–4 (4) 10–1
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Circular Motion

SOLUTION

1. NTA Ans.   (4)
Sol. W = 196 – m 2R
2. NTA Ans.   (2)

Sol.
x

kx
m( + x) 2

m

kx = m 2 +  mx 2

2

2

m
x

k m

3. NTA Ans.   (4)

Sol. m

w

FBD of m in frame of disc/-

mk m ( +  )2 
0

k  = m 2( 0 + )

2
0 0

2

m m

kk m

2

0

m
Relative change

k

 Correct answer (4)

4. Official  Ans.  by NTA (2)

Sol.
mx 2

x
O

y

N

x  

mx sin2  
mgcos 

×

×
In rotating 
frame

mg

mx cos 2

mx 2cos = mg sin
x 2 = g tan

2 dy
x g.

dx

x 2 = g.(8cx)
2 = 8 gc

2 2gc

5. Official  Ans.  by NTA (1)
Sol. R = 0.1 m

2 2

T 60
 = 0.105 rad/sec

a = 2R
= (0.105)2 (0.1)
= 0.0011
= 1.1 × 10–3

Average acceleration is of the order of 10–3

 correct option is (1)
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